A2 AMDER SN ERY
Hu: CRnsosE
Bl SOHIENYE &= (Gt ®2)
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
T2 174,405,466 129,955,216 44,450,250
s 17,289,000
| 130,000
& 156,986,466
C2NESUES 132,477,503 110,213,742 22,263,761
= 17,289,000
J| 130,000
& 115,058,503
SRS E &5 11,939,000 21,271,430 A9,332,430
s 7,097,000
& 4,842,000
CHa~Bt=22t &2 & THSAH (=) 2,441,000 1,719,000 722,000
s 1,709,000
= 732,000
401 AIEBIZ20HY| 2,441,000 1,719,000 722,000
s 1,709,000
== 732,000
01 Al&H| 2,431,000 990,000 1,441,000
OU=~Bt=2t &5 - S L X IAL 2,431,000
s 1,709,000
& 722,000
03 AIE 204l 10,000 10,000 0
oUl=~tt=2t &5 - ELE SAl 10,000
HX~202F =2 & - IH¥ZAH(21) 1,084,000 1,900,000 816,000
fas 759,000
< 325,000
401 AIEHIZ 21| 1,084,000 1,900,000 A816,000
s 759,000
== 325,000
01 Al&H| 1,074,000 1,454,300 380,300
OLEA~Zo2t T & - ILEIAL 1,074,000
s 759,000
< 315,000
03 Al S0HHI 10,000 10,000 0
OEZX~Zo2t T8 - ILEZAt 10,000
CH~GRZ2 &2 & - IEZAN(Z1) 6,056,000 16,281,000 210,225,000
s 4,029,000
== 2,027,000
401 A& BIZ 20| 5,756,000 14,281,000 28,525,000
s 4,029,000
& 1,727,000
01 AlEHI 4,856,000 13,480,000 28,624,000
OEH~ZE2 25 - TEISAL 4,856,000
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AL DER
ZUSYHE
DIONE=DNE= = (Gt ®2)
2 2A B BH(EH) - HRA ofl &t i HIDEZ
[ 3,413,000
= 1,443,000
02 Zeld 880,000 771,000 109,000
O=AH~gEt t2& - 880,000
= 616,000
= 264,000
03 Al THYI 20,000 30,000 10,000
OFA~EE2t 2= 20,000
403 NXIEHMSA=201H 300,000 2,000,000 21,700,000
02 SISt A= 300,000 2,000,000 A1,700,000
O=A~EE2 2= 300,000
-2 &2 & LEE 786,000 785,715 285
= 200,000
= 586,000
401 A2 HIY S0 786,000 285,715 500,285
= 200,000
[ 586,000
01 Al2H] 646,000 155,715 490,285
OXNE~E2 =28 - & 646,000
[ 116,000
= 530,000
02 Zeltl 120,000 120,000 0
OXE~&E2L 2= 120,000
= 84,000
S 36,000
03 A& 2 THYI 20,000 10,000 10,000
OXNg~&g 2= 20,000
SN0 =2 2 - ZHE 786,000 585,715 200,285
[ 200,000
= 586,000
401 Al HIZ SO0 786,000 285,715 500,285
s 200,000
= 586,000
01 Al&H] 646,000 155,715 490,285
OS2~ oRt 23 646,000
[ 116,000
S 530,000
02 Zeld 120,000 120,000 0
OSSO0 =28 - & 120,000
[ 84,000
= 36,000
03 A2 20HHI 20,000 10,000 10,000
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A2 AMDER SN ERY
AN CROEUSE
Bl SOHIENYE &= (Gt ®2)
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
| osa-jor =28 ZaEA 20,000
OIZ2~5t&2t =2 & - TH¥BAHZ1) 786,000 0 786,000
s 200,000
= 586,000
401 A& BIZ20iL| 786,000 0 786,000
s 200,000
o= 586,000
01 Al&HI 646,000 0 646,000
O0|2~ot&2t =2 & - ILEIZA 646,000
s 116,000
& 530,000
02 Zeldl 120,000 0 120,000
O0|=2~5t&2t =25 - LS A 120,000
s 84,000
& 36,000
03 Al 2CHYI 20,000 0 20,000
O0|Z2~ot &2t =25 - LI AL 20,000
NEE &= 120,538,503 88,942,312 31,59, 191
s 10,192,000
| 130,000
== 110,216,503
gezel & HEAS X 1,657,181 1,399,140 258,041
101 @I244| 88,651 81,610 7,041
M IRINZ2ENSES 88,651 81,610 7,041
OXNYE WSSEAF 2124H| 88,651
201 LBH2AY| 364,030 609,030 A245,000
01 ArR22teltl 361,030 606,030 A245,000
O T=2245 HZE 20,000
O=zZ+9 & SFMA EH 36,330
0O=%8 AE= 2,000
QA I=X23Y 2 2,700
OZZMat Y & XA 300,000
02 2323l 3,000 3,000 0
OZZuWE82s 2gHl =3 3,000
202 04| 8,500 8,500
01 =WO4HI 8,500 8,500
O=MAY & XY 2e| R 8,500
401 AlEHIZ 20| 700,000 700,000
01 Al&H| 700,000 700,000
OXNYE MEEX 24 700,000
403 XXM S K=201& 496,000 496,000
01 RIXIHH K22 X 496,000 496,000
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AENS= M 20
CRZNSTHS
NS 85 2
I3 - 22l(3) - NIRAE - i HIDS2
SHEEZ =1 H 496,000
~U=2 Nge =22y 6,000,000 6,010,000 210,000
401 AIZHIZL S OHY 4,500,000 5,010,000 510,000
01 Al&H] 3,890,000 4,500,000 610,000
O=2ol~tH=2t N &S 3,890,000
02 Zeld 600,000 500,000 100,000
O=ol~tH=2t N SHEF 600,000
03 AlZ 20HHI 10,000 10,000 0
O20l~tH=2t NeE =2 E 10,000
403 TR M SXH=0lH 1,500,000 1,000,000 500,000
02 SIS A2 A AS AL I 1,500,000 1,000,000 500,000
O=2ol~tH=2t Nee SZS 1,500,000
CH=2~EisS2t NgE &g 6,000,000 6,010,000 210,000
401 AIZHIXL S0 6,000,000 5,010,000 990,000
01 Al&€H] 5,420,000 4,500,000 920,000
OU=-ths2t N&dx 2 F 5,420,000
02 Zcldl 570,000 500,000 70,000
OU=~EIS2t XY =y 570,000
03 A& 2 CHHI 10,000 10,000 0
OU=~HtS2t XL =2y 10,000
EHS~AS2t XNEE =g 13,000,000 10,958,000 2,042,000
T AIEHIS 208 13,000,000 10,458,000 2,542,000
01 Al&H] 12,390,000 9,998,000 2,392,000
OIS~ St N SHEE 12,390,000
02 Zeld 600,000 450,000 150,000
OtES~As2t Nge &2 600,000
03 AlZ20HHI 10,000 10,000 0
OtiS~ NSt NEE =2 d 10,000
Te~232 XgE o2 13,000,000 9,763,000 3,237,000
401 AIZHIYL S OHY 13,000,000 9,518,000 3,482,000
01 Al2Hl 12,360,000 9,000,000 3,360,000
O7e~232F N SHES 12,360,000
02 Zcld 630,000 508,000 122,000
O7e~-232 NYE &Y 630,000
03 Al CHYI 10,000 10,000 0
O7e~-232t NeE =tEE 10,000
LS~2HE2E NSE o2 10,000,000 9,010,000 990,000
401 AIEHIYL S LHE 8,000,000 8,310,000 310,000
1 Al2H] 7,650,000 8,000,000 /350,000
O2S~2t=2t X EESy 7,650,000
02 Zeld 340,000 300,000 40,000
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A2 AMDER SN ERY
B CEDSosE
Bl e == (Gt ®2)
U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
O02E~2tH2t XLE =2 H 340,000
03 Al 20HHI 10,000 10,000 0
023~ XL SHEH 10,000
403 MR EHMSAH=01H 2,000,000 700,000 1,300,000
02 ST 2SSt =2 A 2AE A 2,000,000 700,000 1,300,000
O2E~2tH2t N SEH 2,000,000
S Aatt Xge S 7,853,000 7,588,000 265,000
401 Al HIZL R 0HLI 7,853,000 7,588,000 265,000
01 Al&H] 7,283,000 7,118,000 165,000
ORS~N3at2t XNgE =2 7,283,000
02 2eld 560,000 460,000 100,000
O3S~Mat2t N SEH 560,000
03 A& 2 THYI 10,000 10,000 0
OdS~ANa2t N SELH 10,000
AE~0E XS S 4,000,000 0 4,000,000
401 AIZHIX S THY 4,000,000 4,000,000
01 Al2H] 3,690,000 3,690,000
OulE~0ERE XEE = E 3,690,000
02 Zc/H 300,000 0 300,000
OLlE~0E2t XNeE SRS 300,000
03 Al 20HHI 10,000 0 10,000
OulE~0E2t N &S 10,000
OIEHDA(HRH) 2 LT SHELY 3,000,000 3,000,000
401 A2 HIX S0HH| 3,000,000 3,000,000
01 AlZH] 2,670,000 2,670,000
OOIE~ (M) XL St 2,670,000
02 Zc/d 310,000 0 310,000
ONE~DA (M) 2 N =LY 310,000
03 A& 20HHI 20,000 0 20,000
OWERINS( M) XL &HEF 20,000
S~y XY 2 d 1,300,000 400,000 900,000
401 AIZHIX S0HH| 1,300,000 400,000 900,000
01 AlZH] 1,295,000 397,000 898,000
Ol & HdAEHES 1,295,000
03 A& THYI 5,000 3,000 2,000
OYSR~sY NLE =Y 5,000
dEH2 NEE &2 100,000 100,000
401 AIZHIYL S HY 100,000 0 100,000
01 Al2HI 100,000 0 100,000
QJIZAHEES 100,000
NYEeZ Wxs & - 2 5,000,000 4,000,000 1,000,000
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A2 AMDER SN ERY
B CEDSosE
Bl e == (Gt ®2)
U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
401 A2 HIZL 200 2,500,000 1,000,000 1,500,000
01 Al&H] 1,890,000 995,000 895,000
OAIESA 1,890,000
02 Zeld 600,000 0 600,000
O3At &el 600,000
03 A2 =2 0HHI 10,000 5,000 5,000
OZ AL 20HHI 10,000
403 MXIEMSA=201H 2,500,000 3,000,000 500,000
02 S 2SO etA = I AL 2,500,000 3,000,000 500,000
oXgE2 MWxs A52Y 2,500,000
ZEHE T2ALESA 846,645 300,000 546,645
401 AIZHIYL SO 846,645 300,000 546,645
01 Al&H] 846,645 297,000 549,645
OJi2 & HAEHES 846,645
NLEALEAE ALZE O 110,446 131,407 A20,961
401 A2 HIX S0HH 110,446 106,407 4,039
01 AlZH] 110,446 106,407 4,039
OAM=EEEgEIIEY 110,446
AL OISt tHEE 5,000 5,000 0
201 &gr=2E| 5,000 5,000
02 S&5=2gl 5,000 5,000
OXZE At Zolithiat SHl 5,000
29 AQE J2HE 2= 910,000 910,000 0
308 KHXIEMISOIE 910,000 910,000
11 SIS U3 4R AS A 910,000 910,000
OALIE Tlelte 2ItRE3 ot 860,000
OADIE JBlEE |E29 50,000
SOHeH BIROF e =4 (21) 3,783,000 360,838 3,422,162
s 2,910,000
= 873,000
403 XX EMS =01 3,783,000 0 3,783,000
[ 2,910,000
S 873,000
01 AXISHHA=E X 3,783,000 0 3,783,000
Odfiet=2 W& L H 3,783,000
= 2,910,000
= 873,000
2Ed A&z &d 330,000 442,480 112,480
308 MRIEHMISOIH 330,000 0 330,000
1 SIS0t &R S A 330,000 0 330,000
O A2 (LAUIOIMZE) E20BHE 330,000
SN =MESE2 DYAXIF S204(20) 11,780,731 7,391,304 4,389,427
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A2 AMDER SN ERY
AN CROEUSE
Bl e == (Gt ®2)
U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
[ 1,438,000
= 10,342,731
401 AlZHIZ 200 11,780,731 7,391,304 4,389,427
[ 1,438,000
= 10,342,731
1 Al2H] 10,943,023 6,921,304 4,021,719
OSAM sMEsE2 DEMTT E20HL 10,943,023
= 1,438,000
& 9,505,023
02 Zeld 830,000 460,000 370,000
OSSN sMESIEZ2 DEMIIF 24 830,000
03 Al& S CHYI 7,708 10,000 N2,292
OSAM sMEsIE2 NEMIF Z2H4 7,708
SN SMESIEZ MSHAIF S2HE(2D) 10,896,000 5,571,429 5,324,571
= 1,704,000
= 9,192,000
401 A2 HIYL SO 10,896,000 5,571,429 5,324,571
= 1,704,000
[ 9,192,000
01 AlZH] 10,391,000 5,163,429 5,227,571
OsM sSMESIEZ Matl+ S2Hd 10,391,000
= 1,704,000
= 8,687,000
02 Zc/d 495,000 398,000 97,000
OsAN SMAESIEZ M3 =204 495,000
03 A& 20HHI 10,000 10,000 0
OSMH =MESEZ MaX+T S20H4 10,000
SN SMEHERZ AEXIT S2E(=1) 12,542,000 8,620,000 3,922,000
[ 4,140,000
= 8,402,000
401 A2 HIX S 0HH 12,542,000 7,814,000 4,728,000
s 4,140,000
= 8,402,000
01 Al&H] 11,947,000 7,324,000 4,623,000
OsAN SMESIEZ ASKF =200 11,947,000
= 4,140,000
= 7,807,000
02 Zeld] 580,000 480,000 100,000
OsM SMESIEZ ASKI+ E2Hd 580,000
03 A& THYI 15,000 10,000 5,000
OsSAN S8z ASK+ =24 15,000
FIEEZ FRME(E)(HEAY) 2,400,000 1,100,000 1,300,000

- 828 -




A2 AMDER SN ERY
B CEDSosE
el AL 3= (EEECED
U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
401 A2 HIZL 200 2,400,000 1,100,000 1,300,000
01 Al&H] 2,400,000 1,100,000 1,300,000
OXNLE RABEZ FRML(HS) 2,400,000
AEEC2 FRML(AZ)(HEAY) 2,182,000 650,000 1,532,000
403 AXIEHMSA=01d 2,182,000 650,000 1,532,000
01 A= 2L 2,182,000 650,000 1,532,000
OANZE L SHEEZZ EEZE 2ERIMH(
det 2,182,000
WAL 2 R HE(E)(HEAY) 100,000 100,000
401 A2 HIZL SO0 100,000 100,000
01 Al&H] 100,000 100,000
ONEE WNSAD Ze2 2 (X&) 100,000
WSAD 2 2 WL (AIZ)(HEAY) 500,000 561,000 261,000
403 X SHHMSAH=01H 500,000 561,000 261,000
01 AXISHA= 2 & 500,000 561,000 261,000
OANZE WEAD H2 2 I (HE) 500,000
M WIZ HRAL(C)(HEAY) 560,000 560,000
401 Al HIZL S CHYI 560,000 560,000
01 Al 560,000 560,000
OXLE M AXI(HEH) 560,000
SIMNIZ EXAG (AT ) (HEAY) 840,000 840,000
403 AXIEHHSAH=201M 840,000 840,000
01 ARSIt E X 840,000 840,000
OANZE sMUXtE SXI(HEH 840,000
PIS(E2ZE 2A2IAIAH) I8t XLE =HFH] 1,400,000 0 1,400,000
401 AlZHIZ R0 1,400,000 0 1,400,000
01 Al&H| 1,400,000 0 1,400,000
oOXgE -HEH| 1,400,000
2e 22ZE2(U0IMZE) &4 312,500 0 312,500
403 AXIEHMSA=Z0l1d 312,500 0 312,500
01 X SHHEE X 312,500 0 312,500
OLd 2AEZ(UOIHNZE) =4 312,500
loT|gt S2AYAH AFBHA 2=(=1) 130,000 0 130,000
Jl 130,000
403 AMXIEHMSA=01H 130,000 0 130,000
Il 130,000
01 AXIEHHA=ZEXE 130,000 0 130,000
Ololl|8t S22 XA AAFHMAH 2= 130,000
Il 130,000
HY2HAH(E2 D) 35,285 29,694 5,591
=34 35,285 29,694 5,591
FNE2Z JI=3Hl 35,285 29,694 5,591
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AR ANDER SN ERY
. HY2IIL(=2M)
=l Jl=dhl (EEREED
U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
201 &gt=2E| 24,621 21,222 3,39
01 At22t2IH] 24,621 21,222 3,39
ORKA2E AR2telH 24,621
202 Ol 6,464 5,472 992
01 2oL 6,464 5,472 992
FAEE =0 6,464
203 =8| 4,200 3,000 1,200
MU FAESER=A 4,200 3,000 1,200
©2521 0Olat 4,200,000& 4,200
Hees(=2n) 41,892,678 19,711,780 22,180,898
2HXE 8,430,678 8,570,780 A140,102
e sz (Xt 3) 8,430,678 8,570,780 A140,102
311 XS0l Ktaket 583,178 723,280 /140,102
05 JIEtXHA SOl Ktatat 583,178 723,280 A140,102
O©'158 XgE SELF(SIIIZ) 362,139
O©'16E XL SLE (KAL) 181,489
©'164 Xgx &EF(HESHE) 39,550
601 XS =4 7,847,500 7,847,500
05 JIEt=UAIY S S et 7,847,500 7,847,500
O'158 XgE SHLF(SIIIZ) 2,000,000
O©'16E XLE S E(X|HAHM) 3,587,500
©'16d Xgx X (HESHE) 2,260,000
LS HHXIE 33,462,000 11,141,000 22,321,000
AL =ty 32,535,000 10,805,000 21,730,000
705 == &clsate 32,535,000 10,805,000 21,730,000
03 Al - =X ISt~ S et 31,000,000 9,000,000 22,000,000
O'tgd Xge &Y 1,000,000
©'0ed XN &g 6,000,000
O'1g g =y 10,000,000
O'128 XY =2y 5,000,000
O'13E XYk sy 9,000,000
04 Al - TXISIHED | S0 == 0| KHaket 1,535,000 1,805,000 A270,000
O'tgd XYr &Y 30,000
©'00d XYL =HLF 180,000
O'1gE XY =xy 300,000
O'128 NYe ==y 150,000
O'13dE ALY =y 270,000
o'20d XY &y 605,000
FIEEZ 220 927,000 336,000 591,000
705 Ol dclsdE 927,000 336,000 591,000
03 Al - TSI Sl == aet 900,000 300,000 600,000
©'09d RABEZ FXRMH 900,000
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A= AXDS SN Z21
M WRES(Z=2M)
o9l WS HAXIE CERE)
2 s e
AT -2 - B G(E) - MRAE - BES O] apot e HIDE2
04 Al - SXISNE DI S0l=30| Ktate 27,000 36,000 29,000
27,000

O'vE AEEZ A
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